Ratio to Pythia 8.308 default

1960 GeV pplbarl Top (Ipartlon !eve])

= L |
B A (ttbar) (pTtt < 50 dy > 0) |
102 =~ —a— Pythia 8.308 default =
- Pythia 8.308 tune-1 -
— Pythia 8.308 tune-2c¢ —
B Pythia 8.308 tune-2m o
10 = [ =
- /3
| J. _
1 /7 =
— S ]
— A5 _
- D ]
10t % -
B -1 A‘,%"‘xg’uﬂ B .\/AAA/A‘ N
1072 Ly Eta ey —
u | | | | |, | L | | | | | -
:l T T T T | T T T T | T T T T | :
2 & -
1
0.5 — _|
| 1 1 1 1 | 1 1 " 1 1 | 1 1 1 1 |

Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


